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= 1,318,875
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CH 37,210
NSBH=S 1,340,014 1,501,253 161,239
= 2,498
= 20,165
= 1,317,351
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= 2,498
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201 er2 3| 3,840 6,656 A2,816
01 At2t2lt] 3,840 6,656 2,816
O3Ngdst 82 1,000,000 14 1,000
O=oietd 822 MX
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202 04l 7,000 7,000
01 2LHoIH 7,000 7,000
OZNIH HR=AN 7,000,000 14| 7,000
203 HR=AH] 4,000 4,000
03 A= LR F&IH| 4,000 4,000
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1,000,0002 %14 1,000
OTR0AEE & SHOAIY F2I(R)
3,000,000& *14] 3,000
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11 dAMEEIXIZE S 2,880 2,880
OZEHAG A~ BLIEHE 2SHI
120,000 x2&* 12 2,880
307 gl2to| & 16,007 16,007
02 QIZHEAAEE X 1,850 1,850
OAHIXEH X2 2,280,000 +81. 1% 1,850
03 LM EHE2SHIEX 14,157 14,157 0
OLHIHEE dE2E
14,520,000 97 . 5% 14,157
24BN (=) 53,000 101,000 48,000
= 18,500
[Ea 34,500
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201 LB-2AH| 5,000 5,000
01 AtR2telt] 5,000 5,000
O=20/AIIA Tolf e EE
5,000,000& * 14! 5,000
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307 212+01™ 10,000 0 10,000
02 QIZHA A AL E X 10,000 0 10,000
O=s830g2 24
10,000,000 *14! 10,000
Al CH 2 1,541,566 1,59,346 54,780
) 5,000
= 284,445
= 1,252,121
2xtel 2= 1,541,566 1,596,346 254,780
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= 284,445
= 1,252,121
UXtel EASHREAN) 6,000 5,800 200
201 LBt AY| 1,000 2,600 21,600
01 AtR22eltl 1,000 2,600 A1,600
OUIZIAY SHE HX
1,000,000 *14] 1,000
202 04d| 5,000 3,200 1,800
01 =LHO4b] 5,000 3,200 1,800
OL e XA HRF2
5,000,000 * 14| 5,000
S AFE R (READ) 630 630 0
201 Ler23H| 630 630
01 AtR2elt] 630 630
O-MRIEARS BAHLY
70,0003 x99 x 13| 630
BE2ZAY (XHA) 1,062,251 1,069,000 16,749
101 2124 d| 1,031,251 1,027,000 4,251
M IIRINZ2Z2XsEs 1,031,251 1,027,000 4,251
OS2 AHY 212
1,031,251,000 & 14| 1,031,251
201 B2 AY| 1,000 1,000
01 At 2elt] 1,000 1,000
O2Z222 A XMl A
1,000,000 14! 1,000
206 =8l 30,000 40,000 A10,000
01 =l 30,000 40,000 A10,000
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S 279,945
o 150,740
101 21AH| 420,582 393,147 27,435
== 273,378
o 147,204
M ORNZZ2NSE S 420,582 393,147 27,435
ONGREHLTIAIY 22
2,102,910&x20E« 10 420,582
= 273,378
= 147,204
201 er23y| 1,103 800 303
= mnr
o 386
01 AtR2tc|HI 1,103 800 303
OXSSSHL A S2H
551,500 <22 1,103
& mr
Ea 386
206 M=l 9,000 9,638 2638
= 5,850
o 3,180
01 MZH| 9,000 9,638 AB3B
OXASSHL A THZH
4,500,000 22| 9,000
=S 5,850
s 3,180
VIS E(8S) 10,000 24,000 214,000
= 5,000
=S 1,500
s 3,500
307 @I2t0| & 10,000 24,000 14,000
[ 5,000
= 1,500
Ea 3,500
02 2B YAIHE A 10,000 24,000 14,000
OISV IS8 X3
10,000,000& * 14! 10,000
[ 5,000
= 1,500
Ea 3,500
ARl XI2LE 2 (XHA) 22,000 22,000 0
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201 er23 | 22,000 22,000
01 At2teltl 4,000 4,000
OZ XX dE E24]
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02 S3=gHl 3,000 3,000 0
OZ NN dE 2EE
3,000,000 *14] 3,000
03 A2 | 15,000 15,000 0
O7Q7H ool o 29
15,000,000 * 14| 15,000
ANl XI& (& HI) 10,000 10,000 0
= 3,000
Ea 7,000
307 gl2to| & 10,000 10,000 0
=S 3,000
s 7,000
02 QB AANEER 10,000 10,000 0
O(0IBNALRIEDIY AFIIOHZH] X1 AL
10,000,000 * 14! 10,000
< 3,000
= 7,000
Jlg2tel 3,151,235 4,123,000 A971,765
[ 2,650,000
= 11,650
[Ea 452,375
CH 37,210
SN HELES 3,151,235 4,123,000 A971,765
s 2,650,000
s 11,650
s 452,375
CH 37,210
S (KHA) 399,235 460,000 A\B0,765
201 er23| 7,235 10,000 N2, 765
01 AtR2t2|HI 7,235 10,000 A2,765
OJ1gxa 2= HMH
5,000,000 * 14 5,000
OTTAS A0 L HARIR 22
447,000% x6H 2,235
202 04l 5,000 5,000
01 =LHA LI 5,000 5,000
OJ1gXd g2=d 5,000,000 14| 5,000
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4Bt 23 27,000 45,000 18,000
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0FYRTIIY FENAS
2,000,000 %14 2,000
O=ADIg I& NA=
10,000,000 * 14! 10,000
OSSP TIPDI=E FIHREAH X
15,000,000 * 14! 15,000
307 glztol & 135,000 175,000 240,000
02 2B YA HE X 15,000 15,000 0
o)1tz X2 15,000,000 *14] 15,000
08 OIXt2d= 120,000 160,000 240,000
O3 G NS OlAF 24
120,000,000 * 14! 120,000
308 AXIHMSO0IA 135,000 135,000
13 S [2S0He 4 A AS A 135,000 135,000
OS2018 NAMAEE X
50,000,000 * 14 50,000
0S| ANHEST EX
75,000,000 * 14 75,000
OUEMHd 282 XN&
10,000,000& * 14! 10,000
402 212 X201 & 90,000 90,000
01 QI X2 AL E R (KHHITHE) 90,000 90,000
OS2I 22EZHEA
60,000,000 *37H 2= +50% 90,000
SIAUE XAASHHEH HE AI(2S) 2,650,000 3,600,000 £950,000
= 2,650,000
401 Al HIZL S 0HYI 2,650,000 3,600,000 950,000
= 2,650,000
01 A28l 2,650,000 3,600,000 A950,000
OSS2UE NAMHHEH 2HE AL
2,650,000,000& *14] 2,650,000
[ 2,650,000
VEAT AFEXF At (<HI) 42,000 63,000 221,000
=S 11,650
s 30,350
308 AtXIEHMSOIE 42,000 63,000 /21,000
< 11,650
[Ea 30,350
13 S [2S0tHet 34 A AS A 42,000 63,000 221,000
OVEad LEXE A
42,000,000& *14] 42,000
= 11,650
= 30,350
IR SHES N (XNLLAEUE0I3) 60,000 0 60,000
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CH 37,210
307 gl2tol & 60,000 0 60,000
= 22,790
CH 37,210
08 OIXt2d=S 60,000 0 60,000
OJ12Xd SelES
60,000,000 * 14| 60,000
Ea 22,790
CH 37,210
Ol XIKHR 2t el 4,049,839 1,025,000 3,024,839
= 863,330
= 1,002,615
Ea 2,183,8%4
oI Xl 2te 4,049,839 1,025,000 3,024,839
= 863,330
= 1,002,615
= 2,183,894
OiLI I = 2k (XEH) 14,700 12,380 2,320
201 Ler23| 9,700 9,380 320
01 At2teltl 9,700 9,380 320
OOUXIES E2= M= 2,700
0EE= F¥ 5003 *1,5007K 750
0 AEIH M 1,000 «300H 300
0EEE % 55,0002 *30H 1,650
OAITHAOIA R OHL
7,000,000 *14] 7,000
202 O4H| 5,000 3,000 2,000
01 2L A 5,000 3,000 2,000
OO gF=8 5,000,000 * 14 5,000
ATHAEUUX E=SEXH(=1) 2,010,889 0 2,010,889
= 650,280
S 325,140
o 1,035,469
402 2I2F X201 & 2,010,889 0 2,010,889
= 650,280
= 325,140
Ea 1,035,469
03 2IZ+RAETAIZ I 2,010,889 0 2,010,889
OLHHENHX &= &
2,010,889,000& 14! 2,010,889
= 650,280
= 325,140
o 1,035,469
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AITHAOILA X =EXIRAS (ZH]) 320,000 255,520 64,480
= 96,000
= 224,000
402 212+ X+=01 & 320,000 255,520 64,480
= 96,000
[Ea 224,000
02 QI XHE AL E R (01X THE) 320,000 255,520 64,480
OLTHEUUH X =X
320,000,000 *14] 320,000
== 96,000
[Ea 224,000
22E e EXIXA (=) 95,250 71,100 24,150
= 28,575
= 66,675
402 QI2F X201 & 95,250 71,100 24,150
= 28,575
Ea 66,675
02 QI XHZ AL E R (01X THE) 95,250 71,100 24,150
OZ=Y S e X1 NFAS
6,350,000 * 1504 2~ 95,250
== 28,575
o 66,675
SADIA BSAIE X8l XA (=) 500,000 200,000 300,000
= 150,000
= 350,000
402 2I”F X201 & 500,000 200,000 300,000
= 150,000
Ea 350,000
02 QI X2 AL E R (01X THE) 500,000 200,000 300,000
O AL SSAIE Xl XA (S
g) 500,000,000 *14] 500,000
== 150,000
o 350,000
LPG A M S A (ZHI) 720,000 360,000 360,000
S 400,000
= 320,000
403 X SHHMSAH=01H 720,000 360,000 360,000
= 400,000
[Ea 320,000
02 ST 2SO etA=2 A P E A I 720,000 360,000 360,000
OLFG 28 MZHT 22 A
720,000,000 *14] 720,000
s 400,000
s 320,000
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S NI XA 2tel
el ol RI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sOE osg9? X&(=1) 360,000 0 360,000
= 200,000
= 160,000
403 MR HHMSAHE01H 360,000 0 360,000
= 200,000
[Ea 160,000
02 ST 2SO St =2 A P E A I 360,000 0 360,000
OLPGASHEHT &
360,000,000 *14] 360,000
= 200,000
[Ea 160,000
LPGEI| AMZIt7 AIEIHEAI(Z2 1) 29,000 11,000 18,000
= 13,050
== 2,900
o 13,050
403 AXIEHHSAH=201H 29,000 11,000 18,000
= 13,050
S 2,900
o 13,050
02 SVI2S0 U H=E S AL 29,000 11,000 18,000
OLPGEI| ALEItT AEIHE AL
290,000& *1009+= 29,000
= 13,050
S 2,900
o 13,050
HYE2AAHI(ZH ) 44,800 26,800 18,000
Jl=3H| 44,800 26,800 18,000
J12&I(XHA) 26,800 26,800 0
201 Ler23| 17,200 17,200 0
01 At2teltl 15,200 15,200 0
OZHatd= 23l 1,000,000 14| 1,000
OMNRES S 78 10,800,000 x 14! 10,800
OERENN RO 500,000 <22 1,000
O= AP |XI 300,000& *62 1,800
Od=+)| HER 50,0004 %122 600
02 S3=gl 2,000 2,000 0
OER=A 2= €U
2,000,000 *14] 2,000
203 =] 9,600 9,600
01 D22 HARFA| 6,000 6,000
OZ oA=& 500,000 * 122 6.000
M EA2ER=A 3,600 3,600 0
OFHEY RN 300,000 122 3,600
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SOIARE=X(KHA) 18,000 0 18,000

201 L2 18,000 0 18,000

01 AtR2telbl 18,000 0 18,000

OS24t 1,000,000 18Y 18,000

Wees(ZH) 703,095 615,596 87,49

LHRAHHXIE 703,095 615,5% 87,49

L Heh KI= (XHAI) 703,095 615,596 87,49

701 JIEtel HSEES 703,095 615,596 87,49

01 JIEI AN ES 703,09 615,596 87,49




